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QUESTION 1

Common Test September 2022

P(older than 30 years) = @
560

v 352 (as numerator)
v" 560 (as denominator)

a .
(a) ~0,63 Answer only: full marks )
. 99
1.1.1 | P(more than 2 accidents) = — 99
(b) 560 v" answer (——or 0,18)
=0,18 560
(1)
(1.)1.1 P(older than 30 years and more than 2 accidents) = % v 4% in numerator
¢ =0,09 v’ answer
(2)
1.1.2 P(older than 30 years) x P(more than 2 accidents)
352 99
=——X— v" calculating P(older than
560 560 30 years) x P(more than 2
_ 1089 or 0,11 accidents)
9800
.. P(older than 30 years) x P(more than 2 accidents) # v’ reasoning
P(older than 30 years and more than 2 accidents) v .
Therefore: the events are not independent conclusion 3)
1.2.1 P(S)
P(A) One mark each for the
P(B) following values placed
correctly:
v 0,3
v 0,25
v 0,35
V0,1
0,1
4)
1.2.2 | P[not(A orB)] = 0,1 V0,1
(1)
1.2.3 | P[A and (not B)] =0,3 v0,3
(1)

Copyright Reserved

Please turn over



MathedoPHOaded from Stanmorephysics.com

Common Test September 2022

GRADE 11
Marking Guideline
1.3 A tree diagram may be drawn to represent all the possible outcomes
with their probabilities:
Contract
0,08
Masks
0.82 0,92
Not Contract
Contract
0,73
0,18
No masks
0,27
Not Contract
P(mask and contract) + P(no mask and contract) Vv 0,82x0,08
=0,82x0,08 + 0,18x0,73 Vv 0,18%0,73
=0,20 or 20% v" answer after addition
(accept 19,70%) (5)
[19]
QUESTION 2
2.1 120 cars v’ answer
(1)
22 45000 < x <55000 v'v answer
(2)
OR
45000 < x < 55000 vV answer o
23 46 500 km v'v answer
(accept from 46 000 to 47 000)
(2)
2.4 120 — 77 = 43 cars v' 77 (accept 76 to 78)
43 v
Percentage: —— =35,83% 43 (accept 42 to 44)
120 v 35,83% (accept 35,0% to
36,67%)
(3)
[8]
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QUESTION 3
3.1.1 1385 v 1385
12 12
=115,42 v" answer
Answer only: full marks )
3.1.2 | 18,67 km v" answer
(1)
3.2 Interval; (1 15,42—-18,67 ;115,42 +1 8,67)
=(96,75 ;134,09) ; 96,75
Outside of this interval: (82; 89; 94; 135; 140) 134,09
Therefore: on 5 days v" answer
3)
33.1 v" whiskers
| S ending at 82 and
82 97 122 130 140 ‘1/40
H H H H H box from 97
| T | T | T | T I T [ f | to 130
80 90 100 110 120 130 140 |/ at122
(3)
3.3.2 | The data is skewed to the left OR negatively skewed v answer
(1)
3.4.1 1385+12x 1385+12x
New mean =———— i ——
12 Answer only: full marks 12
=11542 +x v 11542+ x
(2)
3.4.2 | 18,67 km v’V answer
(1)
[13]
QUESTION 4
y
4.1 (—90°:2) (270°;2

v’ x-intercepts
and y-intercept

_—

v" turning point

v" end points

0 180° X
v shape

—

(90°:2)

4)
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1 v/ answer
4.2.1 =—
2 (1)
422 | ABo ;1) v 30°
0n
(2
423 Q(90° %] v 910
v =
2
(2
424 | x=160° v’ answer
49
425 | 2<y<4 v endpoints
v’ correct notation
OR (2)
yel[2:4] v endpoints
v’ correct notation (2)
426 | x=0"or 120° <x <180° vV ox=0"
v" endpoints of interval
OR v’ correct notation
(3)
x=0" or xe[120° ; 180°) v x=0°
v endpoints of interval
v’ correct notation
3)
[15]
QUESTION 5
5.1.1 | 49° v answer
(1)
512 | DG __ GF e i i rule
snE  SnFDG applying sine rule in
triangle DGF
DG 7 ..
= v’ substitution
sin35°  sinl4’
DG = 7 ><.31n35
sin14°
_ 7xsin3s°
= 16,60 m ength o
DE _inEGD
DG
DE a0 v substitution in correct trig
——— =sm49 )
16,60 ratio
DE =16,60xsin49°
1253 m v’ answer
&)
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~ 360° . . .
52.1 | AOB= o =45 [ £ s around a point] v AOB = 45°
AO=BO=r
Area of AAOB= ;.AO.BO.sin AOB
= %.r.r.sin 45° Storno v substitution into area rule
_Lo(1) op Lo[A2 Lo L) g 1,2[22
2 V2 2 (2 2 (V2 2 | 2
Area of the octagon = 8 x Area of AAOB
1 2
=8X[2J5]F2 OR 8X[\{1—}2 v' 8x Area of AAOB
— 4 2 2 2
= [fj]’ OR (2'\/5) roocm
[ 2x J2xA2 2
V2
= Zﬁrz cm’
“4)
522 | AB’=A0’+B0*-2.A0.BO.cos AOB
=52 +5% —2(5)(5)cos 45° v" substitution into cosine rule
=14,64
. AB=3,83 cm v" length of AB
.. perimeter =8x3,83=30,61 ¢cm v" answer
3)
[13]
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QUESTION 6
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TSA of prism = 2(12x20)+2(12x15)+2(15x 20)

=480+ 360+ 600
= 1440 cm?

Area of circular base of cone =7 x 7>
=7x4,5
= 63,62 cm’
Slant height of cone (/) =+/A* +7*
=6 +45°
=7,5cm
Lateral surface area of cone =7 xrx/
=rx45%x75
=106,03 cm®
TSA of solid =1440+106,03—63,62
=1482,41 cm’

v 2(12x20) +2(12x15) + 2(15x 20)

v answer

v 63,62 cm®

v’ using Theorem of Pythagoras

v' 7,5 cm

v 106,03 cm®

v’ answer

(71
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